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Instructions to Candidates:  

• Use of scientific calculator is allowed.  

• Attempt any four questions out of six.  

• All questions carry equal marks. Subparts of a question carry equal weightage.  

• Answers may be written either in English or in Hindi; but the same medium should be used throughout 

the paper. 

परीक्षार्थिय ों के र्िये र्िरे्दश : 

• वैज्ञानिक कैलकुलेटर के उपयोग की अिुमनि है। 

• छह में से नकसी भी चार प्रश्ोों का उत्तर दीनिये। 

• सभी प्रश्ोों के अोंक समाि हैं। एक प्रश् के उप-भाग के अोंक भी समाि हैं। 

• उत्तर अोंगे्रिी या नहोंदी में नलखे िा सकिे हैं; लेनकि पूरे पेपर में एक ही माध्यम का उपयोग नकया िािा चानहए। 

 

 

 

1. (a) Define NPV and IRR. Which of these criteria is the most appropriate for investment evaluation? 

Explain your answer with the help of an example. 

 

(b) Find the duration D and the modified duration DM of a perpetual annuity that pays an amount 

A at the beginning of each year, with the first such payment being 1 year from now. Assume 

constant interest rate r compounded yearly.  

 

(c) The current price of government treasury bonds is as follows: 

Maturity (in years)  Coupon Price 

1 0 percent $97.474 

2 5 percent $99.593 

 

Assuming all coupons are annually paid with each bond having a par value of $100. What are 

the 1-year and 2-year spot rates? What is the forward rate between year 1 and 2? 

m
unote

s.i
n



1. (अ ) NPV और IRR को पररभानिि करें। निवेश के मूल्ाोंकि के नलए इिमें से कौि सा मापदोंड सबसे 

उपयुक्त है? एक उदाहरण की मदद से अपिा उत्तर दीनिये । 

(ब) प्रते्यक विष की शुरुआि में एक रानश का भुगिाि करिे वाले एक सिि वानिषकी की अवनि D और सोंशोनिि 

अवनि DM निकानलये, िो प्रते्यक विष की शुरुआि में एक रानश का भुगिाि करिा है, इस िरह का पहला 

भुगिाि अब से 1 विष के नलए नकया िाएगा। निरोंिर ब्याि दर r को सालािा आिार माि लें। 

(स) सरकारी टर ेिरी बाोंड की विषमाि कीमि निम्नािुसार है: 

Maturity (in years)  Coupon Price 

1 0 percent $97.474 

2 5 percent $99.593 

 

माि नलया िाए नक प्रते्यक कूपि को प्रते्यक बॉन्ड के साथ $ 100 का सममूल् मूल् नदया िािा है। 1-विष और 

2-विीय स्पॉट रेट क्या हैं? विष 1 और 2 के बीच की दर क्या है? 

 

2. (a) The CAPM changes our concept of risk of an asset from that of σ to that of β. Show this by 

deriving the relationship between the expected rate of return of an individual asset with its 

individual risk. 

 

(b)What is short selling? Discuss how the optimal set differs under short selling as compared to 

without short selling. 

(c) Consider a risky venture with a per unit share price of $875 which is expected to increase after 

a year. The standard deviation of the return of the venture is σ = 40%. Currently the risk to $1,000-

free rate is 10%. The expected rate of return on the market portfolio is 17%, with a standard 

deviation of 12%. Find the expected rate of return of this venture and the expected rate of return 

predicted by capital market line. Compare the two and comment. 

2.   (अ) पूोंिी पररसोंपनत्त मूल् नििाषरण मॉडल (CAPM) एक पररसोंपनत्त के िोखखम की हमारी अविारणा को σ से 

β के िोखखम में बदल देिा है। अपिे व्यखक्तगि िोखखम के साथ एक व्यखक्तगि सोंपनत्त की वापसी की 

अपेनिि दर के बीच सोंबोंि प्राप्त करके इसे नदखाएों । 

(ब) शॉटष सेनलोंग क्या है? चचाष करें  नक कैसे कम नबक्री के नबिा इष्टिम सेट कम नबक्री के िहि नभन्न होिा है। 

(स) $ 875 प्रनि यूनिट शेयर की कीमि के साथ एक िोखखम भरे उद्यम पर नवचार करें  िो एक साल बाद 

बढ़िे की उम्मीद है। उद्यम की वापसी का मािक नवचलि σ= 40% है। विषमाि में $1,000-मुक्त दर का 

िोखखम 10% है। बािार पोटषफोनलयो पर वापसी की अपेनिि दर 17% है, निसमें 12% का मािक नवचलि है। 

इस उद्यम की वापसी की अपेनिि दर और पूोंिी बािार रेखा द्वारा अिुमानिि प्रनिफल की अपेनिि दर ज्ञाि 

कीनिए। दोिो की िुलिा करके  नटप्पणी कीनिये। 

3. (a) A trader owns a commodity as part of a long-term investment portfolio. The trader can buy the 

commodity for $950 per ounce and sell it for $949 per ounce. The trader can borrow funds at 6% 
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per year and invest funds at 5.5% per year. (Both interest rates are expressed with annual 

compounding.) For what range of one-year forward prices does the trader have no arbitrage 

opportunities? Assume there is no bid–offer spread for forward prices.  

 

(b) The price of an American put on a non-dividend-paying stock is $44.5. The stock price is $408, 

the strike price is $410, and the expiration date is in 6 months. The risk-free interest rate is 2.5% 

per half year. Derive upper and lower bounds for the price of an American call on the same stock 

with the same strike price and expiration date. 

(c) What is the effect of change in risk-free interest rate and future dividends on price of an option?  

 

3.  (अ) एक व्यापारी दीर्षकानलक निवेश पोटषफोनलयो के नहसे्स के रूप में एक कमोनडटी का मानलक है। व्यापारी 

प्रनि औोंस $950 के नलए कमोनडटी खरीद सकिा है और $949 प्रनि औोंस के नलए बेच सकिा है। व्यापारी प्रनि 

विष 6% पर ििरानश उिार ले सकिा है और प्रनि विष 5.5% पर िि का निवेश कर सकिा है। (दोिोों ब्याि 

दरोों को वानिषक चक्रवृखि के साथ व्यक्त नकया िािा है।) एक विष की आगे की कीमिोों के नलए व्यापारी के 

पास कोई मध्यस्थ अवसर िही ों है? माि लें नक आगे की कीमिोों के नलए कोई बोली-प्रस्ताव िही ों फैला है। 

(ब) गैर-लाभाोंश-भुगिाि वाले स्टॉक पर लगाए गए एक अमेररकी की कीमि $ 44.5 है। शेयर की कीमि $ 

408 है, स्टर ाइक मूल् $ 410 है, और समाखप्त की िारीख 6 महीिे में है। िोखखम मुक्त ब्याि दर प्रनि छमाही 

2.5% है। एक ही स्टर ाइक मूल् और समाखप्त निनथ के साथ एक ही स्टॉक पर एक अमेररकी कॉल की कीमि 

के नलए ऊपरी और निचले सीमा को निकानलये। 

(स) एक नवकल्प की कीमि पर िोखखम-मुक्त ब्याि दर और भनवष्य के लाभाोंश में पररविषि का क्या प्रभाव 

है? 

4.  (a) Explain the difference between Futures and Forwards Contract. 

 

(b) Suppose that a futures contract with 4 months to maturity is used to hedge the value of a 

portfolio over the next 3 months in the following situation: 

Value of S&P 500 index: 1000 

S&P 500 futures price: $1,010 

Value of portfolio: $5,050,000 

Risk free interest rate: 4% per annum 

Dividend yield on index: 1% per annum 

Beta of the portfolio: 1.5 

One futures contract is for the delivery of $250 times the index 

 

i. What position the company will take in futures contract? 

ii. Calculate the gain/loss from the futures contracts if index and futures price turn out to 

900 and 902 respectively. 

iii. Calculate the expected value of the portfolio and the hedger’s position at the end of 3 

months. 
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(c) It is possible to buy three-month call options and three-month puts on stock Q. Both options 

have an exercise price for $60 and both are worth $10. Is a six-month call with an exercise price 

of $60 more or less valuable than a similar six-month put? Show. 

4. (अ) फू्यचसष और फॉरवडष कॉन्ट्र ैक्ट के बीच अोंिर स्पष्ट करें। 

   (ब) माि लीनिए नक पररपक्विा के नलए 4 महीिे के नलए एक वायदा अिुबोंि का उपयोग निम्ननलखखि खस्थनि में 

अगले 3 महीिोों में एक पोटषफोनलयो के मूल् को हेि करिे के नलए नकया िािा है: 

Value of S&P 500 index: 1000 

S&P 500 futures price: $1,010 

Value of portfolio: $5,050,000 

Risk free interest rate: 4% per annum 

Dividend yield on index: 1% per annum 

Beta of the portfolio: 1.5 

One futures contract is for the delivery of $250 times the index 

(i) कों पिी फू्यचर कॉन्ट्र ैक्ट में क्या पोिीशि लेगी? 

(ii) फू्यचसष कॉन्ट्र ैक््टस से लाभ/हानि की गणिा करें  यनद इोंडेक्स और फू्यचसष की कीमि क्रमशः  900 और 902 

हो िािी है। 

(iii) 3 महीिे के अोंि में पोटषफोनलयो के अिुमानिि मूल् और हेिसष की खस्थनि की गणिा करें। 

(स) िीि-महीिे के कॉल ऑप्शोंस खरीदिा सोंभव है और िीि महीिे स्टॉक q पर रखिा है। दोिोों नवकल्पोों का 

उपयोग मूल् $60 है और दोिोों की कीमि $10 है। छह महीिे के पुट की िुलिा में $60 या उससे कम मूल्वाि 

व्यायाम मूल् के साथ छह महीिे की कॉल है? दशाषइये । 

 

5. (a) Explain four ways in which a company repurchases its stocks.  

(b) “M.M. Proposition warns us that higher leverage increases both expected equity returns and 

equity risk. It does not increase shareholder value.” Explain with the help of an example.  

(c) “The dividend policy is irrelevant in a world without taxes, transaction costs, or other markets 

imperfections.” Explain with the help of an example. 

5. (अ) एक कों पिी के शेयरोों को पुिखषरीद करिे के चार िरीके बिाइये । 

    (ब) “M.M. प्रस्ताव हमें चेिाविी देिा है नक उच्च उत्तोलि (leverage) में अपेनिि इखक्वटी ररटिष और इखक्वटी 

िोखखम दोिोों बढ़ िािे हैं। यह शेयरिारक मूल् में वृखि िही ों करिा है।" एक उदाहरण की मदद से समझाएों । 

(स) "लाभाोंश िीनि नबिा करोों, लेिदेि लागि, या अन्य बािारोों की खानमयोों के नबिा एक दुनिया में अप्रासोंनगक 

है।" एक उदाहरण की मदद से समझाएों । 

6. (a) Rank the following bonds in terms of descending duration (without calculating) and give 

reasons for the for the same: 
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Bond Coupon Time to Maturity Yield to Maturity 

A 10% 30 years 10% 

B 0 30 years 10% 

C 10% 30 years 7% 

 

(b) If returns are positively correlated, it is more difficult to reduce variance and there may be a 

lower limit to what can be achieved. Show mathematically. 

(c) What do we mean by Principal Protected Note? Explain using example. 

 

6. (अ) अवरोही अवनि (गणिा के नबिा) के सोंदभष में निम्ननलखखि बॉण्ड को रैंक करें  और उसके नलए कारण दें : 

       

Bond Coupon Time to Maturity Yield to Maturity 

A 10% 30 years 10% 

B 0 30 years 10% 

C 10% 30 years 7% 

 

(ब) यनद प्रनिफल सकारात्मक रूप से सहसोंबोंनिि हैं, िो नभन्निा को कम करिा अनिक कनिि है और िो हानसल 

नकया िा सकिा है उसकी निचली सीमा हो सकिी है। गनणिीय रूप से नदखाएों । 

(स) प्रिाि सोंरनिि िोट से क्या अनभप्राय है? उदाहरण देकर समझाइए। 
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